N-3A

BEK/EBREKEOYIRAF—IINLR
Lowest profile Type/Lowest profile Type Longest Steel Vises

VELN:2GZ Suay =ves, e

HEVE-NY U—-XHhOKHE !

B/BUVKT r ODBEKRAF—IVINL R

Large Jaw stroke is offered by the reliable VE-N series!
Low height steel vises with the Yellow body

OSRIMEDRAF—ILKT « @High-rigidity steel body
OO IiE T #RARICEN2BEKE  @Uitralow height body offering the maximum machining area

=y < vh O — <% @Firm gripping of work secured by the high jaws
OSLOETLOND DI ZRETEEY @Largest Jaw stroke in products of the same class

.a?zoﬁxo)q%ﬁi Large work can be gripped with the compact body.
2VIND MERT « TREFD—I%ZHEE  @Stable clamping force secured by the mechanical-type
TEFT enhancement toggle mechanism
@ A AIENISE TRELIEEHH @Lift-up reduced to the minimum, offering stable machining accuracy

5 MR TR 5, = @Standard parallel specification
:ié;gggl MR TRELTIEE Suitable for long-size work and simultaneous machining of multiple
el L A workpieces

RRYPZHERRINLIICRETT

T T
| {RHRE TJvuL_,

ARZEWIIRT RRYDREVEETINICERT

AThe standard parallel specification enables machining of
long-size work with stable accuracy.

AFENGIHHE T, SRERINIBTE
AN ONC—REBVET

AThe standard parallel specification enables simultaneous
machining of multiple workpieces, thus reducing costs.

ATV NEIRT 4 TRERD— O R LBTEEY
Al arge work can be gripped with the compact body,

BAT + R’ EANZF—IL EOSRE : BEANZRF—IL

BEESRSR : 75 T8REASSY (S5VTEE, THy bk, Mbb, Dvye—) | AYRIL. LBRALYF. CFpvT. 254 RAJt—
BA T3y w505V T8R. BAHA RIOvS. SFIy MY, IFAFYvav)— VI Ja— BB BEAEy N
XINBRICEDOETHA NJOY SBWHIBECEEY. FIRBHEE T,

BBody Material : Hardened steel  IllJaw Material : Hardened steel

MIStandard Accessories : Clamping parts assembly (clamping part(s), T-nut(s), bolt(s). washer(s)). handle, L-shaped hexagonal wrench, C-caps, slide cover
BOptions : Parallel clamping parts. stepped guide block, ratchet handle, extension bar, soft jaws (a set of a movable side and a fixed side jaws)

*The guide block can be changed to suit the machine where the vise is mounted. In this case, please contact us.



B JT#E Dimensions Lpitag awa

| §lpopat.
Clamping Force Table  (w unit : kv

m r r n
©
b=
) gb 6 6‘ §
sl — L L 5 _gt
Y 9 9 X
O ] VE200LWN| 45 | 32 | 20 | 10
\ 5¢ia #HOL Y YIG M LB SR ETOT
BNAREERERUET.

3% Zero range means clamp without a step-up mechanism
Clamp force shows an allowable amount,

2X2—a
i M P N
§ay -
e v
[‘}'é «
Fos = 2X2-a i RARFHIL b
_ & Hex. sacket head
| 8 7 cap screw
=) __[ = ] al
| @ “Z - _-_J_{, EE_‘ )E'E 5 L rr( W,
] u i b ®
5 =1 — )
e sfls| 1 ufl BN\
F G J ¢l "
D E
B c
A
H{t#%&R Specifications (88t Unit : mm)

mt e DEE OSEE DeME wE: o—ompmESs 2w eR | EXEAD
il Jaw width Jaw height Jaw stroke Total height Work mounting face height  Full width  Full length : kN)
38
VE160LN 160 60 354 160 100 173 635 45 69
VE200LN 200 70 405 180 110 217 710 45 108
VE125LWN 125 50 405 135 85 144 680 30 48
VE200LWN 200 70 195~-605 180 110 217 913 45 133
B T&ER Size Table (Wi Unit : mm)
ol p A B D P Q R

VE125LN 510|200 | 310 (425 | 85 | 115|225 | 18 |135| 85 | 50 | 84 | 76 0~256 50 | 180 | 30 | 72 | 126

VE160LN 635 | 177 (458 | 540 | 95 | 82 | 363 | 18 | 160 | 100 | 60 | 94 | 86 0~354 | 65 | 225 | 37 | 95 | 161
VE200LN 710 | 177 | 533 | 615 | 95 | 74 | 438 | 18 | 180 | 110 | 70 | 102 | 98 | 0~405 75 (225 | 37 | 85 202§
VE125LWN 680 | 280 | 400 (595 | 85 | 195 |315| 18 | 135| 85 | 50 | 84 | 76 0~405 50 | 180 | 30 | 72 | 126

VE200LWN 913 | 238 | 675 (818 | 95 | 135|580 | 18 | 180 | 110 | 70 [ 102 | 98 | 195~605 | 75 | 225 | 37 | 95 | 202

VE125LN 126 | 138 21
VE160LN 160 | 173 | 21
VE200LN 200 | 217 | 21
VE125LWN 125 | 144 | 21
VE200LWN 200 | 217 | 21

M10| 75 |275| 44 | 42 | 50 | 80 | 55 | 50 | 10 | M16X65 | 71 16~31 | 30 | 45

M10| 85 | 370 (515)| 47 | 80 [ 100 | 55 | 50 | 15 | M16XB5 | 71 15~31 | 30 | 45

M10( 115 | 385 |57.5| 51 100 | 150 | 70 | 60 | 15 | M16X65 | 71 | 15~31 | 30 | 45,

M10| 75 |445| 44 | 42 | 50 | BO | 55 | 50 | 10 | M16X65 | 71 | 22~31 | 30 | 45

~N ||~ |

M10| 115 | 588 |57.5| 51 [ 100 [ 150 | 70 | 60 | 15 | M16X65 | 71 16~31 30 | 45




+ |
—— - &- B - B - - .
iy
i) 4 “ 147
1537 95
45 15] [ 60
2x2-M10_®&20
DEPTH
1.\ 102 MAX_405 98 | © 217
200 5 o ;
=
i 2%2-M10
[8Y]
3 (. s - _1 f
3 © / =|llm
L I~
i B [—] = 45
M s [& 385 "‘P"é 15 [} H o Ml = | @ ®
T e b— P~ T
= 1 O :|: ¥ '-VN! a i g - r
e " e
74 438 15~31
BI3 S 71 202
177 533 TRANAL
M16X65 ! (344)
710 HEX.SOCKET HEAD
CAP SCREW I
o TP
(BE2RA4AY ~IE) 2 Y
(CLAWPING PARTS  ACCESSARY 4 PAIR) =
CAREER SCALE [TYPE[VE200LN  |WElGHT| kg
1:4 B3wER*v 1 se
MANAGER CHIEF |DRAWN BY NAME| VEZ200LN 7151
| | | 3RD ANGLE VE200LN OQUTSIDE VIEW
KITAGAWA IRON DATE | @[ orw 'aq ! )
WORKS CO.,LTD. NO. 61M:39:6437 L’I_O_‘J
&

1 2 L v v T 5 [




